OTBeThI K CAMOCTOATEJILHOMI pa60Te

1)

2)

3)

4)

5)

6)

7)

8)

—12—% —g+5—g(e—6_1)i
[3]a) —6+6i; 6) —2+2i; B) 6— 6

271 T i)
[4Ja) =550 %590 [5]la) -5 6)0
@%m (63—1) _156%

118 — 3i 22—e+e—1—§i
e

[3]a) —8+8i; 6) —4+4i; B) 8—4i [4]a) mi; 6) 2
Bla) -2 60 [6]-2mi(e®-1) [7]Teh

*%+9i *24’3*2(67671)1'
[3]a) —4+6i; 6)4—&—?; B) 4—4i [4]a) mi; 6) 2mi
a)—%; 6) 0 @gwi(eg—l) _71-56%
—?—? 2—e+e_1+éi
[3]a) —21+15i; 6) —%—32'; B) 15 — 39i

211 i Iy
[4]a) =525 6) =m0 [5]a) — 21 6)0
@—27‘(2'(671—1) %eé

68 173 3e 3e” 2.
-3-5 [B-3+5-=-3

[3]a) —12+15i; 6) —g+6i; B) 15 — 12i
[{a) - 26 Zim0  [Ha) - 6)0
@—m' (6_2—1) %es%

?*92' 2737<67671)’L’
[3]a) — 16+ 24i; 6) 4+ 8i; B) 24 — 24i

211 T Iy
[4]a) — G510 5w 0 [5la) — 7560
@—71’1'(672—1) %e%

-1
[1] -11— 4 57%+56’2 —gi

[3]a) —3;,6)i; 82— [4]a) 7i; 6) 2mi
a)—%i; 6) 0 @—71’7;(672—1) %eﬁ

TR G e,
[3]a) —16+10i; 6) — 12+ 2i; B) 10 — 144
[4]a) %; 6) —%i; 5)0 [5]a) —7% 6) 0
(6] —omi (et —1) [7]Fess

9)

10)

11)

12)

13)

14)

15)

88 e el 1
R A

-1
e

[3]a) — 27+ 24i; 6) — 9+ 30i; B) — 18 — 36

T m
a) _Ea 6) Ea B)O

@ —;ﬂ'i (673 — 1)

8370+% 27272(67671)2'

[5]2) -

i}

T67

. 6) 0

[3]a) — 28+ 24i; 6) — 8 — 8i; B) 24 — 72i

211 iy
a) *@; 6) ﬁ% B)
@m' (62 — 1) ge%

0

[5]a) -

iy

[1] 18 — 44 %—2+%(e—e*1)z’

[3]a) —10+10i; 6) — 6+ 6i; B) 10 — 2

4]a) —ﬂ; 6)1i; B) 0
4 4

12,9 —5+%—5e

3 3

[5]a) ~ 55"

-1

2

07

1

[3]a) —9+12i; 6) g—i—i’)i; B) 12 — 15

a) mi; 6) 2mi a) —

™ 4

@ —T1 (6_2 — 1) f?)e is

T
16’

. 6) 0

[1] -9 —15i 4726+2e*1+2i

[3]a) — 524 60i; 6) —
274 m
a) 99 6) 1 B)
2ri(e—1) |7|—e
g u

20 +

0

m‘s
G|~

212i

7~6
10’ )0

+ =i
(&

a) —%§

™

6) 0

_6—% —2+5+2(€—€_1)i
[3]a) —1; 6)1+%; )2 [4]a) %;
a) _%; 6) 0 @—%m’ (e7®—1) ies%

9—|—3i %—4—(6—671)2'

15
[3]a) —8+4i; 6) — 5 +208) 42

a) mi; 6) 2mi

6) —



16)

17)

18)

19)

20)

21)

22)

23)

—%—F% 4—264—2671—22'

a) —7+3i; 6) 71?3+i; B) 3—3i

[4]a) mi; 6) 2mi a)—%i;6)0 (6] i (e2—1)
7] 2

—14—27” —5+——562_1+§i

[3]a) 0; 6) 3+14; B) 5+ 2 a)%; 6)—%; B) 0
a)—%i;6)0 @gm(ei”—n [7] et

[1] =20 — 30i 3—%+362_1—%¢

(3] a) 4; 6)5+%; B) 54 4i a)f%; 6)%; B) 0
a)—%i; 6)0 [6]2mi(e—1) [7] Tt

[3]a) 4+ 6i; 6)8+%; B) 4
a)%;@—%i;la)o a)—%i;6)0

28 113 2 1 1
?ﬁL? *24’24’5(6*6 1)2
[3]a) —15+18i; 6) —g+9i; B) 18 — 9i
a) mi; 6) 2mi a) —%i; 6) 0
@—m’ (6_2—1) geﬁ

; 1
[3]a) —12+6i; 6) 10; B)4—8i
o - 256 im0 [Bla - 60

—% —4+2e—2e_1—§i
[3]a) —10+6i; 6) —2+?; B) —2—10i

[4] ) ? 6) —%i; 50 [5]a) —%i; 6) 0
2 . -3 T i

@—gm(e —1) 568

[1]-15+ 132 2—3—2(6—(1)@'

[3]a) —6+2i; 6) —%; B) 2 —4i [4]a) mi; 6) 2mi
I51a) — 22-6)0 [6] —27i(e~! —1) erﬁ

24)

25)

26)

27)

28)

29)

30)

?—F% —§+2—g(e—e*1)i
[3]a) —18+6i; 6) —6+10i; B) —2—14i

o) T -Tim0 [5la) -T:6)0

[1] —15+9i —g+5—(e—e—1)z’

[3]a) — 724 60i; 6) — 24+ 76i; B) — 40 — 88

a) mi; 6) 2mi a) —%; 6) 0 @m’(eQ—l)

3¢ 3! 5
1]27 - 21i 2|3 - = Zi
. 7 ) 3 > + 5 +ez
[3] a) 24i; 6) 9+ 27i; B) —9 — 18i

™ T v
[4]a) 550 gm0 [5]a) - 5600
@72771' 67171) _126%

: -1
[M-s0-20  [ls-2.2 13

2 2 2 e
a)—5+4i;6)—g+3i;3)4+i
[Wa) 20 - Tim0  [5a) - 7560
@—;7‘1’7:(673—1) _Lle%

444 3¢ 3e! 1
17 B se 1.
[1]17 2] -3+ 5 ot

[3]a) —45+24¢; 6) — 18+ 33i; B) — 18 —45i

(4] a) mi; 6) 27 [5]a) —%; 6) 0 [6]mi(e* 1)

. -1
[3]a) —20+28i; 6) 12i; B) 28 — 20
™ i ™
[4]a) 5550 — i) 0 [5]a) — 1 6)0
2 3 ™ i
@gm (e —1) 363



